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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you —--—-- to the next question, you should take some time to make sure
vou're happy with yvour answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—------- ; the Kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—--- - way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used --———--—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ------eeev matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -----a-u-v for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to ---=-veeee
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-——--"" said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You'll have a better chance of finding that unusual word if you look it up in a/an
-------- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—-—-—-—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.

Selective herbicides kill specific targets, (11) —=-meeaee- the desired crop relatively unharmed.
Some of these act by interfering with (12) ——---—--- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites. railways and railway
embankments are not selective (13) -==mmamm- all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas (14)
------ as wildlife habitat.

Some plants produce natural herbicides. (13) =====aees- the genus Juglans (walnuts). or the

tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2). when left with 3) while leaving 4} by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4} the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The relationship between transport svstems and their larger economic frame becomes clear
when looking at restructuring patterns which carriers and firms are currently undergoing.
Structural mutations. best illustrated by the popularity of just-in-time practices. are fuelled by
two opposing yet effective forces: transporters seek to achieve economies of scale while having
to conform to an increasingly "customised" demand.

Factor substitution is a commonly adopted path in order to reduce costs of production and
attain greater efficiency. Containerisation of freight by substituting labour for capital and
technology is a good illustration of the phenomenon. Measures of capital productivity for such
capital-intensive transport means are of central importance; an output/capital ratio is then
commonly used. While the output/labour ratio performs the same productivity measurement
but for the labour input (this form of indicator can be used for each factor of production in the
system). a capital/labour ratio aims at measuring which factor predominates within the
relationship between capital and labour productivity.

The above set of indicators therefore provides insights on the relative weight of factors within
the production process.

More scale-specific indicators can also be used to appreciate the role of transport within the
economy. Knowing freight transport both contributes to and is fuelled by a larger economic
context, freight output can be confronted against macro-economic indicators: an output/GDP
ratio measures the relationship between economic activity and traffic freight. n other words the
tratfic intensity. At the local level, the status of the transport industry within the local economy
is given by a transport sector income/local income ratio. Still at a micro-scale. finally. a
measure of the relative production value of freight output is provided by an output/local
income ratio.

Underlying objectives of application of such indicators are as varied as they are numerous.
Efficiency indicators constitute valuable tools to tackle project viability questions as well as to
measure investment returns and cost/subsidy recovery of transport systems. Input-output
analyses making use of some of the above indicators are also instrumental to the development
of global economic impact indexes and productivity assessment concepts such as the Total
Factor Productivity (TFP) and to identity sources of productivity gains.

16- The word 'capital-intensive' as used in the passage refers to

1) low investment  2) low productivity  3) high investment  4) high productivity
17-  The term 'economies of scales' in transport means

1) low cost of transport due to cheap mobility

2) low scale of transport due to low economy

3) the saving in cost of transport due to mass production

4) the saving in cost of transport due to mass transportation
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18- Cost reduction of production and reaching higher competence are adopted by:
1) output/labour ratio
2) Structural mutations
3 ) substituting labour for capital and technology
4) capital productivity and capital-intensive transport
19-  The role of transport within the economy could be valued by:

1) freight outputs 2) output/GDP ratio

3) specific indicators 4) macro-economic indicators
20-  Structural mutations is accurately shown by:

1) "customised' demand 2) reputations of JIT practices

3) two opposing but effective forces 4) economies of scale
PASSAGE 2:

Transport systems lace requirements to increase their capacity and to reduce the costs of
movements. All users (e.g. individuals, enterprises, institutions, governments, etc.) have to
negotiate or bid for the transfer ol goods. people. information and capital because supplies.
distribution systems. tariffs. salaries, locations, marketing techniques as well as fuel costs are
changing constantly. There are also costs involved in gathering information, negotiating. and
enforcing contracts and transactions, which are often referred as the cost of doing business.
Trade involves transaction costs that all agents attempt to reduce since transaction costs
account for a growing share of the resources consumed by the economy.

Frequently, enterprises and individuals must take decisions about how to route passengers or
freight through the transport system. This choice has been considerably expanded in the
context of the production of lighter and high value consumer goods. such as electronics. and
less bulky production techniques. It is not uncommon for transport costs to account for 20
percent of the total cost of a product. Thus, the choice of a transportation mode to route people
and freight within origins and destinations becomes important and depends on a number of
factors such as the nature of the goods, the available infrastructures. origins and destinations,
technology, and particularly their respective distances. Jointly. they define transportation costs.
Transport costs are a monetary measure of what the transport provider must pay to produce
transportation services. They come as fixed (infrastructure) and variable (operating) costs.
depending on a variety of conditions related to geography. infrastructure. administrative
barriers, energy, and on how passengers and freight are carried. Three major components,
related to transactions, shipments and the friction of distance, impact on transport costs.

21- What could be the possible prerequisites of transportation?
1) cost and capacity reductions
2) cost reduction and capacity growth
3) cost growth and capacity reduction
4) cost increase and capacity reduction
22- What is/are the additional cost(s) that all users have to negotiate or bid?
1) the cost of fuel 2) the cost of capital
3) he cost of supplies 4) the cost of doing business
23- What do the transaction costs of trade represent?
| ) an increasing share of the resources
2) consuming by the economy
3) enforcing contracts
4) growing economy
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24- In transportation, who are responsible for routing freight?

| ) passengers 2) transporl managers

3) production managers 4) enterprises and individuals

25-  What are the main elements influencing the transportation costs?
1) fixed and variable costs
2) infrastructure and operating costs
3) the friction of distance shipments and transactions
4) geography. infrastructure. administrative barriers and energy

PASSAGE 3:

One reason for the success of engineers and economists in transport studies and applications is
that their training has been rigorous in the application of mathematics and multivariate
statistics. They have demonstrated the ability to provide precise answers to the questions that
decision makers have required - what to build. at what cost. with what cost effects. A culture
has evolved in the transport industry that unless it can be quantified it is of little value. Many
transport geographers have the quantitative skills that have made their work accepted by the
broader scientific community. There is little doubt that training in mathematical programming.
graph theory. and multivariate statistics is required. However, there are newer techniques that
provide geographers with opportunities to contribute to transport studies. GIS-T, in particular
should be an essential element in the training of a transport geographer. The multi-scalar,
multivariate nature of the transport industry makes GIS-T an invaluable tool. and one that will
raise the profile of geographers in the transportation industry,

One of the great challenges in transport studies is data availability. In many cases, official
census and survey data are inadequate or unavailable in the form required. Knowledge of
survey techniques and their limitations is an important part of the transport geographer's
toolkit. Many of the traditional tools and approaches of geographers are still relevant. They
allow us to address problems that are frequently overlooked by other disciplines because of the
lack of data. Questionnaires and interviews represent a vital source of information in many
situations. Content analysis is extremely useful in providing quantified data from non-
quantified sources. At the same time, lield work provides the opportunity to obtain detailed
understanding of the particularities of the local conditions that cannot be obtained from reading
texts and official documents.

The prospects for transport geography and transport geographers appear to be excellent. Look
back at the subject matter and topics covered in this book. They indicate an industry that is
growing in significance and changing. The kinds of issues that are achieving greater
importance - sustainability, congestion, governance and management - are ones to which
geographers have the opportunity to contribute. As the transport industry becomes more
complex, old approaches. focusing on a narrow range of factors have to ha replaced by more
nuanced analysis and solutions. In the transport industry itself, in public planning. and in
research institutions, the scope for geographers appears bright. We hope that this book has
ignited in you the spark of interest to continue your studies in transport or to recognise the
importance of transport in the subject field you choose to pursue.

26- Who have ultimately benefitted from the application of mathematics and
multivariate statistics in transport studies?
1) Decision makers 2) Economists
3) Engineers and economists 4) engineers
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27-

28-

Transport geographers' work is acceptable by the broader scientific community,
because of their:

1) Culture 2) Little value

3) Qualitative abilities 4) Quantitative abilities

What is the newest method in which the transport geographers should learn?
1) GIS-T 2) graph theory

3) multivariate statistics 4) mathematical programming

What are the transport geographers' main sources of information?

1) Traditional tools

2) Questionnaire and interviews

3) OffTicial census and survey data

4) Knowledge of survey techniques

What are the means to address problems ignored by other disciplines?
| ) Traditional approaches 2) Content analysis

3) Relevant tools 4) Field work

ftbyo syl g adad g L g for  Jowo!

flwal W plas  Jolas o=y CEU Wy e 0 T

JUad Sg (F ilS” (Y g,38> (Y ali=! ()
a1aS 53 Il 5 (i3 4 Sl 5l gl 53 (Gl dgy Jhi 5 Joo) o SJUL baasgs YIS Ji 5 Joo VY
i 5LET Loy quies
CldSsl s s jo padas (Y s 5 Wikl o pavaan ()
J g Ll jo poase (F GbdSl g acla jo peaze (V
(Air Freedom Rights) olen ¢ol3] i slas & by Beyond Right jlacl o olgp M 5 Jos 0 -FY
Tl
wd (F w2y (F el (V pe ()
)| .p'l..l'.'r .‘J_IILI\_JJ .J.i.l 3 ‘J.n# = FSU -¥¥
s Slga (5)lag 5l (F (bt olge lzale wals O
S bz gl (F ey plg oy (F

] Jii g Joo pac plaS Joame (o oy yo uliy -T2
(Fodist Era) caws sd pas ()
(Post Fordist Era) oo s8 5l s yae (Y

(The Industrial Revolution and Transportation Era) & 5 |e> s Zaie A pas (F

(Emergence of Modern Transportation Systems) , us |85 Lo glopians sl jac (F
O3 a1y (gl by J g oo px () yiient sk plaS (GT) Y 05,5 4l dmwg glajeis o -TF

Fosw! aals gnl.-a.'.'..i-l

lsLils (F cals (F LI IS5, )
flal i Wiz 9 AN i (B b (5 Ol anSo e 1YD 35 -TY
VWY (f VYAAA (T \YE o¥ (Y VY ()
|y blaey jo ALl glacdlad b adii aluwg £9i 90 J8laa 5l colicul g paiiens o alols —Y'A
'E;J.'..nul!n
Logistical Distance (Y Euclidean Distance ()
Transport Distance (f Manhattan Distance (v
foud 8 dame Laans pluf 10 oles & g Juo 4500 anwgi j| (By-passing Effect) al> 0 -Y4
V4fo=\Sh0a (Y ¥aYeo=14Y0 ()
VaAo—=1480 (¥ V3P e —14Yo (¥

M,&w gL M)‘ eww)l.f g,o)T QY‘,H 45” és”'é



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

Y dxiw 317F 599l )0 Ak gozxa ya0;
?'M$wﬁp1ﬂqd_hjéﬁjd.mJ¢SOPEP -F-
a2 25 Sogl (g8 b (¥ n 255 285 Sagll ) badl i €
b o8 by (2 Sogll ) (g5l an (F o 225 28 (Sogll s pglee ik (F
Co! ous £9 0 amd plas 31 ol o Jii g Jos> jo Intermodalism  —F)
pod Sl Koz pladl L 5)47 0 (Y Py Pl K plail L g¥a02 ()
shedlopn 85 g Lo dawei L g)4Y o (F FoDlS dawgi LigVaF O (Y
Fmil 1S S 33 i g Jo j0 TOFC 3l jokie —FY
Piggyback (f Horseback (r Fishyback (v Birdyback ()
€352 Jas syl 1,8 Bl a3 )3 sy 1y 4233 43 0 oIl (5 ol yd Jii g Joo y3 —FY
Y4 LYY e (F G o e (1 —V0 b o (¥ ¥ BAe o ()
JEROPPN o e lap i g Ja> o (strategic Alliances) G 51 ol aloil 9 GO gl 51 -FF
) (N L PR ] | ooy T\ k1
Sals - zals (F bl - als (Y oaals _ gsliat (Y ialzal o alsal ()
Y gttt gutis Ji g oo 30 € it gkl 00t ot (gLOLETD 3 ya pluS -FO
Olylecs lad 5 DU (F Bl YT Sleals> (Y sy Jaat (¥ &5l ()
(s sl Jo!
fowwl plas . Secular change —¥#
JLs S s Variation s s3lul ()
il Jsbo IS 4,8 10 (5l e S ol (¥
392 Y70 Jloo b sy Jlo o ol 3551 ol (F
=5 Course ;o yois a> 5 ) gl Deviation . ol (F
by b oud 658 ojluil og0l; oliual Relative bearing 4> 0VAe ulp Ship'’s head 51 -FY
olilius! True bearing ol 4> 0 -Y plw Quadrantal error 54> ,0¥Ve uly (DUF.) oe0l,
fowsl 4z 0 Wi g0l
TAY (Y Yok (
\YA (F VYY (Y
fiwwl Tidal Streams i 25 ) &5 > plas —FA
Spdae sl Lolidlss g gl felge 3l p a5 U1 B8l oS > ()
Sgdone Sl ulitlen 5 pusilBl Lelge B 5 & O (550 25 > (Y
g oo oloul olo g dudijas Jawgi de g 53 00idS WL (glogyd M p o Ol LB Lglie oS > (Y
Sl ga ol ola g 0l je Jaigi da g 5 saldS WU slag i Sl 5 a5 Ll (goges Lglite 25 > (F
<9y » (Observer’s meridian) osuaiies Ll Gl Ly Cyz 0 Jlewl pye claugl) alols —F4

{0 guinse 00ueli 4> Equinoctial

GMT

Local Hour Angle (LHA) (v
Greenwich Hour Angle (GHA) (v
Sidereal Hour Angle (SHA) (f

| padaid L8 g Sextant jo 5 glas plas -0

Shade error (¥ Side error (\

Perpendicularity error (f Index error (v

(Hull) 6o jl e miao U siobo Jab 4 j5lid 5 jo (Forward anchor light) ol S £1,2 glad )l
Filal oo iz 1 jglass

Fib Slas (Y 0 Jilas ()

§ 2Sla (F 7 Jilas (¥

M;M gL M)‘ eww)l.f g,o)T QY"H 45” és”'é



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

A axino 317F 599l )0 Ak gozxa ya0;
Tl oo i i) Jolae 0laS wlul p Deviation ojlual ( SiS cull &8 > o S0 38 -OY
u.fl‘:‘j' 6)-5;"-‘ g (\
5 sl o o o (Y
S )3 0b s g g bl e o (F
352 390 4 o (F
Longitude u>lg caws w Parallel of latitudes g0 o Lol v ! aai Jobo ¢ joils o alidii jo -OY
fagi o0 ool az scale
ebdlas o e SI(Y Difference ol Meridional parts ()
il 2 (F il i Jsbo G35 (¥
$39d g0 0mali 42 13319 )58 B3 325 4233 WY G5 (yms g 35 50 &5 " o Alol”  —OF
Civil Twilight (v Sun Set (
Astronomical Twilight ¢f Nautical Twilight (v
togd o3 Restricted in her ability to manoeuvre gLl Jold 5 ;5bil plos -00
wsthyd e o35S Sl e (Y wynd Jo 2 O
(surveying) s,ls pazs Jl> o (F TS Sllae sl Jl> 4 (Y
fo)l8 S pj Jele pluas & Atmospheric Refraction ojluil  -aF
5 sles (¥ lgo Cugh; ()
lga LEE o Leo (F lgs Led (Y
Fadil oo Cawly bas SO ailS jo Aldi 59y p Great circle puc Ojgo 4> ;0 -0V
J._DLL,‘E#_LJLQ_LJFMH
Bl Gy g S o s (F
il g Jled 88 > e (7
asl gl b g ledlial S g9y 5 25 > e (F
(i Apparent Altitude -5A
a3l euls Jee! o1 4 Index Error a5 Sextant Altitude ()
Sensible Horizon oYU glew! al ol b L) 55 0 50l " gl 4gl; gl "¢y
Visible Horizon Wb glew! alyzl b Ll 35 0 g0l " ol asgl; slas " (¥
Rational Horizon WL Jleo! plial b Ludl 55 00 g0l " ol asgl; glas 1" (F
g0 )08 oo dlow] gy 3l AT gkl Ginai g First point of Aries yw Jold o> Equinoctial alols -3
Fogu o0 sduali 4> 39 0 g 38 o3l First point of Aries jl ¢ cys 50
Local Hour Angle (v Declination (\
Greenwich Hour Angle (¥ Sidereal Hour Angle (¢
Sl plas 3500 51,8 (Chart Datum) ob ;o aid Gee 35k 1 pYL a5 L o S j0 aladi S5 glayl -5+
Height of Tide (¥ Dryving Height ¢
Height of Tide above Low Water (f Lowest Astronomical Tide (¥
1Sy ik g dlaidl b
45 s g0 9529 & ilo) Ciosllasli i 359 i )

AL vl 0ggas NS 8 kol5a ()

Adl idee loe L LLSI s Sledlbl (¥

Al e o Fai S0 b alal, o Sledlbl a3lies g oogs o lizels el (T
Aol azals sy cans 5| e Bl gy g F peaai (ol saiSuder ol il (F

M;M gL M)‘ eww)l.f g,o)T QY"H 45” és”'é



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

9 amio 317F 599l )0 Ak gozxa ya0;

ol polic plos’ Joll g3L 2 g3l & ain o

Sk 2elsd g oasjl gl il LSusL (Y Sy gladze 5 o35k (HLSL ()

e slagml il g (lSosb la STy o USSL (F laal o s ile g (3l asld o LSG3L (Y
Tl o s Jgl 4250 Caod pund

ol e AT Elasdi kAl (Y 3,] Bds ()

Ol yidia (glaog F dod 5L 0  SU oledlbl 2lls (F Obytea slaog 5 slolis aily 51 BT (Y

Wb TC=#x+0 ax'rg X=YFo—Tp cuiyda J5a e loliy sl Joio g laxil jl50 j0

f
l”M‘ (R R R SR RRRT LIRS Rl )Y ﬁ'ﬁ Mﬂ‘f 5 LI R R R S iR R bR ﬁ1ﬁ #l# :w
#uVAs (Y VAL Yo ()
Yo . ¥YYea {'F VO WXFe (Y

65,9130 Lzl 4 5150 98 o 1) (Frowd Liasd ol 530 Gloj a4z 53 )5 slanil S

1S Jleel el 5 AT b bl i a5 gyl gy Pl s (Y

b o ik g0 e o Lol | e gl 45 ailai e g A Seeud o |y Sliides (V

maisy ol oS ol imad 0lS o soliiwl X Jguame audgl gl jI e Jole U 5 ladd | BIS
T . ¥ ¥ . 5 a > i & TN

X ol 0 a5 el K=—DI'IL +7L YL o8 (ol Gue slis adyi aoli all o ol sl

buwgio audgi T g plosiw! )55 sluai az wbl oo ou plusiiw! ol 481 slaws L g aias jo Jguame

Fouw 32 095 1l Sl 4 )15 (g9 50

Vo (¥ Fo ()

'Y (F Vo (Y

n-'h-nrija azilis g blois X jams Gt & ‘MTJJ = Gpae Soms o YT g0 gl SOy S

Bl b alél

] Jyora Y S X (Y s 08 YE X ()

i S Lol ol ey WIS S Y (F Lanl | Jgome Y S Y (T

G192 sl Wglids (ol jlaulus a5 L A LToslal a5l 4 3o

Ll gl (glaas i gl 2T (golazdl slaa i ()

ol HIEST elaass e g (o)lba glaasge foldi i golall glaas s (Y

s oz 8 gloaisse el (golaisl claas e (Y

Cannl ST g e slod 1o gaazms g llis gloai i (F

D Camd JolS Culd; 5L s 5 LJ0 sacasLis 43S slas 8l 3959 Je g sladd e &5 k)

Filaw! g 8 Lols Lzl 150

‘LJL.EJ LL:.: RPTTS u“’l:j'“ u"lﬂd.!l).n: 4 Lﬂmliu UI

WS e Jee elazsl Al oy pdan o Cas (V

Dy o A5Tas g (F

M;M gL M)‘ eww)l.f g,o)T QY"H 45” és”'é

-5V

-FY

-$¥

-¥b

55

-y

A

59



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

Vo dmieo 317F 599l )0 Ak gozxa ya0;

il A5 315 e 39 30 e iz 35
FUE 135 0 o0 wen Jol5 Culdy 15k 4y G (g yiien S50 (9,8 Jlazil jlL 0 )5 Ll SO
€05 o Jos

il ey alS” (¥ el Ll (Y

"""Ift.'?“ n..:..r.f..t.ggi uﬂ;‘.li.g Jﬂ S j.' nd.'-..'JJ_,.-a.n ”L! » J.il,;lu.n n..h..f..h.!y Q:ﬁ.ﬂ: dfu.th_‘,

25 Cesd @ 5 VL 29 VL Cead &1L ()

2yl ad s 6 5V Sgu vyl CodlS &l L (Y

S ol Jamme ¥ S8 rals ciles osie ay ioal @lacad 5l (F

S salinal yame Vb ke sils Ciles claie 4 5V slaciacd 5| (F

P! e ol &ty (5105 Lo yas (6 3 sl Ly’ (gl s 320 plas

il (F Js (v e (Y i ()

145 394 515k ds ud 998 1 @ile Wilgi o0 S oge 50 13k o B S

aed aledl ol b 40 o 51 s (g A asle s (Y S sy oyl 0 e b ] S ()
A3 13 Jgama 308 alod Cand 3 Sl | Cund (F Sl azsls g3l L, 28Ts Al 5l (T
Fi puf oo G Jlilani| ax wilel s (o jlazil Gais Alus 5390 38

wsraads Sl Lamdl (3

A8 oy el slaYS a5 I Laxil (Y

g dagh g Baho Brpdd g a5 I lazl (V

AT o Sz ol plis ayl) elain! gloazy o 457 3l land] (F

fasly pals ailgi g0 aighe «ld Jlaij sloser (chin gl

S5k slead 28l (Y )l U e &5l (2l ()

&l wilge als (F Sy s e 4y allis (Y

=

-

~¥Y

-Yy

-¥¥

-Yb&

L b dow 9 ad>

Pl plaf (il oud wd YIS si juf ylgie 4 Bill of Lading o &5 oozl pli

Consignee (f Consignor (¥ Shipper (v Carrier ()
AT et jlode (6 08 3L g0 Jlail s 4 (charterer ) Ui sodiSe sl & J s o)
Ol IS s led g0 S 1 Sl 43 6yl ] 81 5158 58 s

Deadfreight (f Demurrage (v Despatch (r Freight ()

Foww! plas ( seller ) YIS ouidg 8 andsg . FOB ols 5l 8 50

AL S 4 5 )l 03lal 45 (5o 4y Sl 4 VIS (3351 ()

duais [ YE dow 3> g Jo anjs 3oy (F

deadie ;3 VI alsy auje cslo, (F

daia GYIS ez auje ciley (F

M,&w gL M)‘ eww)l.f g,o)T QY‘,H 45” és”'é

-YF

-YY

-YA



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

W d=io 317F $9y9ib y0 dr gomxa ::JF.-!T

Gl 1o sl o el o1 ol i Sl iy il o hBNOF &ty LB 48 45 et
Shipper (f Mortgagor (¥ Mortgagee (¥ Charterer ()

‘ol Innocent misrepresentation Glias pj 3;lse)l S plas

erfly gias bl pas ()

Ay das I 45 adlyd 1Ll (Y

2l (Recklessly) Llsp o 53, 5 45 1Lt (¥

.ol (Negligently) asalos b cdiz o5 5l a5 51,51 (F

;L5 "International Convention on Civil Liability for Oil Pollution" yeuilsss by
JB 58§ OaamilylS gac glaygds 5l (O 40 el Cud (hS Slo Cadgiune (010 gy g2 p3Y
il o W 5 s b Gl & oo (A0 Slge Jo

Yoooo (g dooe (v Yooo gy Voso gy

Josllgs wll (o odd dew subled (Broker) JU,iL aklg L J¥s 4l 4 dmed U
Togu oo Cild p S 4> bwgi (Brokerage) s

X SRRV 11 S S (¥ ot day (¥ o
fogu oo @bl 5 350 plas i (Pirates) ol o olaje ells

G5l ol ile €

(S aded dal & ol gals 25 (Y

ALS oo alex  S23 jlaS Sl e (¥

L3 5l okt 5 (2T (Sl ol Sles (F

Bl olo wix (LS Cdige ol aslionls jlusl ploj Ji51as ol (b0 (gl bl

\Y (¥ T FY ikl
Cubl oo sadel a2 LY Joo cua Al wliil 3> (CIF) sls )8 50
(Buyerpis Jlus = (¥ (Insurer) Fas. ()

(Carrier)y ouiss Joo (¥ (Seller)yls adcsg,é (v

b el Sl Sl Sl oyl Cub a5 Ja J(Time Charterparty) gloj oylal ol yl 3 50
T oo ovumoli dz (gt
Deadfreigh (¥ Hire money (v Premium (v Freight ()

s 31 (Deviation) G,z 5l Jeild pd g dogopl jde ) 3 90 plaf (b )0 dew ailsd 3ub 5
?mhﬁn@qjaubwjanmuﬁﬁjﬁip

S Jiy b otlesd g ()
S SIS ol 55 51 5 Ll (Y

G el Uy 35 el ey 3 0 sl gl Ll (T

2yl 158 sl byl o aF (6% a4 ST L e Ll Gl il (F

oy on Jizhn sy & oaidipyd 3 e 4z YIS & 5l 5 5y s 0,9 59 YIS oo olay15 ol

lie josy ,8 a8 VIS (68,0 5l e (F deaie yai 0 YIS alds le; 510
o j ;8 (635U Cagr YIS 39,9 51 o (F S VI il Laos e 51 (Y
! oIS (b9 (85 (S5l (sly (o g 4 Ly po Malipm (gl pd

Fund (v CLE B

Bunker Oil Pollution (f MARPOL v

M,&w gL M)‘ eww)l.f g,o)T QY‘,H 45” és”'é

vq

kN

-A

~AY

_AY

-AF

-Ab

-AS

~-AY

~AA

AR



Y dxdo 317F $9y9ib y0 dr gomxa ::.!FJT

tiwwl Baseline 31 Ll wo alols UL ;o 50 jais S golaidl ¢ jlaxil ddlaio osgame Jobo  -Qe
Yoo {1': Voo {\“" Yf {T 'H"{"I

il o fmand (s 3 ¥ lre ¥ g ) cogac ol y) o] 9 Sb)

fan ,.lua.:r--zn'“_w'b G Moz Egeme  —4)
n=>4
e~) (¥ )
e (f XAY

?mlajlﬁ;nhé-ﬁlﬁq.:..,...j.fflj=U;—r,u"x-l-f dasls U aoli lagai  -4Y
X ==\ (r X ==Y ()
=% (f X=4) (Y
)

?ml,.m:.lim{cns\./;]-‘ Jeol> Ay
3o

\;E (Y o ()

\{E (f Yil¥

Yl by yoe uTFMJJIJ:M.PJu by yin Sy yo blao dilgiwl o 5F 0 p>  -AF

1’-
— (¥ =
q %
Y Y
— (¥ — (Y
¥ T
[ alas o y Lx= j dt S -4
R .F.:* T e -
Vi+ "
vy (Y ™ QO
fy X
Y (¥ (v

-\H"I+f}-'f

€ ] AT K Cansl polie Y = XT€

v
c

'F
5 @
e

-q'\+‘fxT

s p V=K Wslee 4 281 las

§
=ity
e

T
=2l
5

-qp

Sl ,.m‘.y:ﬁ adadi yo T'.\:={3*T+'r}" dales &y Somio as Uil jlaie  -AY

¥
(Y

ﬁ
v
— (F
T.I

MM}Q“}‘ wu)Uuﬁ)'

\
(\

5
y
L 3
by

Y gw adS Sglild



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

1Y oaxio 317F $9y9ib y0 dr gomxa ::JF.-!T

X
il plas A ol INA ol lim (

1
2\t
y=Jr (v Jr=y o

N N

4 9 ) bt Do Yl 3 g XOY i jo 2ilg xr-i‘}'r =F 5o as vgiemo il il 4T o px>

—%}dl Jeols

¢l plas b YZ=X"+y"
YT (Y YT
ATC (F 7T

el ol Y =y =Yy =™ fiil s Aslee IS Ly

! _ ' \ .
y = Ae” +{B—l}e = o y=Ae* +(B——)e™ (1
¥ v
L LR ¢ AL X L "
y=Ae "+(B+—-x)e " (F y=Ae +{_B+F:x_]e &
'E

o o W aai 4o Smin 1 poloo ks cand 4551 by 4 ¥ = Y¥Y o il hss Wolae pogas Llg>
y=Ytanyx+<¢ (v y=Ysinyx+c¢ (\

y=vtan(rx+c) (¥ y =Ysin(Yx +¢) (¥

Fioamd plas L..a,E.; 0w il oz b ) Bul galsaiwo (glsesls 4o

diws 339> [ Jo—IF  F—1F P10 NA-¥Y  YY—va
Sls | F A v Yo a

—ey 1!,*"'!'II {T =—ajy ‘|'1' {_1
Dll.l'l'rv {f' ;,\IT' {T

o ,nl.;sﬁ{%}{—fy} ke wBLeoV(X, Y) =/A, V(Y) =18, V(X)=Y,F 5

0 (Y ()

o/F (F & (Y

alo 31 LS Y 0 gladiged i Jikumn ol (ailo 90 b oyl slaaalad Cuolid (glapaSils Y3 (3903l 53
Naoy oW T/FY i aa Jgl sladigas (uily)lg 9 oefilie 45 1Cul sl LR 2o pulila §1 BT 9 Jg
ol alaf (o pfils galus (258 30 cygel 8)lol .ol oudi awlxe oy o F g ¥/ YD pg0 el

a/h (Y 2/ Q)
Y (F VE (Y
P X =T Sl 33 ¥ (i slaso g0 Jauzr 51X e g Y S 80b (51 gaml 5 a1 eoliial b
¥l
x[¥ 4 e o
v[g A on oy
Ve, F (Y Yo ¥ (A
Vo, ¥ (F Yo, (Y

M,&w gL M)‘ eww)l.f u’-o)T QY‘,H 45” és”'é

-4A

-a4

—‘Ili

SN

ey

-\of

b



.).&)‘ wm,l: Qp}TMQU e fw;ﬁmo

'F axio 317F db)ﬂ.ﬂ.”-ﬁ AL goa ug.nj

ad g0 3O I ol (wlld )15 590 3T W g AS 9 glils



.).&)‘ wm,l: Qp}TMQU e fw;ﬁmo

18 dxio 317F db)ﬂ.ﬂ.”-ﬁ AL goa ug.nj

Cad g0 39 I gl (il )15 590 3T W gu AS 9 glils



.).&)‘ wm,l: Qp}TMQU e fw;ﬁmo

\F axio 317F 595990 )9 ar gozxa yge)l

d g0 9O I ol (il J U5 590 3T W1 gur aS’ 3 glils





